
23 Cylinder head
Professional \ Systems engineering \ Self-service appliances \ Multi bay system SB \ SHD-R 604 \ SHD-R 604 \ Documentation SHD-R604 \ Spare parts list SHD-R 604 \ Pump set \ Cylinder head

Gültig am 24.07.2018 Page 1 / 3



23 Cylinder head
Professional \ Systems engineering \ Self-service appliances \ Multi bay system SB \ SHD-R 604 \ SHD-R 604 \ Documentation SHD-R604 \ Spare parts list SHD-R 604 \ Pump set \ Cylinder head

Gültig am 24.07.2018 Page 2 / 3

POS Article no. Description Quantity Unit Foot note text
4 5.112-346.0 Bush 3.000 ST
31 6.386-160.0 Cutting ring D 6-L/S 2.000 ST
21 7.306-043.0 Cylinder head screw M8x30 -8.8-A2E ISO 6.000 ST
18 7.306-066.0 Cylinder head screw M10x100- 8.8-A3E IS 4.000 ST
7 6.365-330.0 Grooved ring 3.000 ST
15 6.388-545.0 Hose clip 6.000 ST
16 6.388-278.0 Hose DN10 1.000 M TO ORDER AS CUT GOODS
2 5.363-232.0 Joint ring 3.000 ST
8 7.362-007.0 Joint ring A16x20 -Cu DIN 7603 1.000 ST
32 6.376-346.0 Label 2.000 ST
30 6.386-527.0 Male stud coupling 1.000 ST
19 6.362-480.0 O-Ring seal 12,42x 1,78 1.000 ST
24 6.362-395.0 O-Ring seal 14,0 X 1,78-NBR 70 2.000 ST
33 6.362-481.0 O-Ring seal 14,0 x 2,0 NBR 80 6.000 ST
22 6.362-153.0 O-Ring seal 15,3 X 2,4-NBR 70 2.000 ST
12 6.362-483.0 O-Ring seal 17,0 X 2,5-NBR 80 3.000 ST
3 6.362-614.0 O-Ring seal 21,0 X 4,0-FPM 83 VITON 3.000 ST
6 6.363-607.0 O-Ring seal 34,65 x 1,78 -NBR70 3.000 ST
10 6.421-361.0 Pressure gauge 0-16 MPa 1.000 ST
27 7.306-129.0 Screw M6x40 -8.8-R3R (In6Rd) 2.000 ST
9 7.382-254.0 Screw plug M16x1,5-A-CuZn DIN 7604 1.000 ST
26 7.382-273.0 Screw plug R1/4"-CuZn DIN 909 1.000 ST
29 5.402-391.0 Screw union 1.000 ST
23 5.110-210.0 Sleeve 2.000 ST
100 2.883-905.0 Spare part set pump set 604 1.000 ST
28 7.313-003.0 Spring washer B 6-FSt-A3E DIN 127 2.000 ST
25 5.026-350.0 Tube 1.000 ST
13 2.884-908.0 Valve (3 Stück) 1.000 ST
20 5.587-102.0 Valve housing 1.000 ST
14 5.583-060.0 Valve screw 2.000 ST
11 5.583-067.0 Valve screw 1.000 ST
1 5.115-409.0 Washer 3.000 ST
5 5.115-435.0 Washer 3.000 ST



23 Cylinder head
Professional \ Systems engineering \ Self-service appliances \ Multi bay system SB \ SHD-R 604 \ SHD-R 604 \ Documentation SHD-R604 \ Spare parts list SHD-R 604 \ Pump set \ Cylinder head

Gültig am 24.07.2018 Page 3 / 3

POS Article no. Description Quantity Unit Foot note text
17 6.388-430.0 Y-Bushing 10/10/10 1.000 ST

Powered by TCPDF (www.tcpdf.org)

http://www.tcpdf.org

